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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 4th Semester Examination, 2020

ECOACORO08T-EcoNnoMICs (CCS8)

Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.
All symbols are of usual significance.

1. Answer any five questions from the following: 2x5=10

fsERe @-ciet 256 2via Ted wies

(a) Define Nash equilibrium.
I SIAICTS TR WS |

(b) What is quasi-rent?
AR FICF CeT 2

(¢) Why demand for inputs is called ‘derived demand’?
ToFAel BIRAICT (e TG bifznl e 2

(d) What is dominant strategy?
AT (FieT <5

(e) What is meant by externality in consumption?
(I (T AT 0 fF @I 9

(f) Describe the conditions of exchange-efficiency in a two-person, two-good model?
73 & 12 73y uce [fTm-wrer sewfe 3¢q st

(g) Differentiate between firm demand and industry demand.
e wifemt e Ficewm vifen #11gs T

(h) Define welfare economics.
FoTIeFIRN SLeTIfoR e wie |

(1) State the prime characteristics of Monopsony market.

G (ela Areica 2 g Rge sl

2. Answer any four questions from the following: 5x4 =20

fsEke @-iet 51Ff6 2tia Ted wies

(a) Explain the concept of social welfare function.
NG Ferpiel ST QIefs 1 S|

(b) State briefly adverse selection and moral hazards.
R “elfopet v ¢ Cafos RRwife’ armel wfb @

(¢) Why the supply curve of labour is backward bending?
ST A @A BT 2 & 9
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(d) Explain in brief kinked demand curve.
c1el-ffTR pifewt i i=efs ket i e

(e) Show that the elasticity of supply of an input governs the level of rent.
(e (@ SAMICTR @I9NCTR FEfogiomelr e Aemi i fea s

(f) ‘Labour exploitation occurs in both the monopoly and monopsony markets’—
Explain.

‘R M @Bl Kool € @bl (ol Tew I 2@ A —N! T
(g) How can risk be reduced through diversification?

Rivaace g i [Fei 2= T a7 9
(h) Explain the concept of excess capacity of a firm under monopolistic competition.

GO SIS AR T Tge Foid A=elB 41t T |

3. Answer any two questions from the following: 10x2 =20
fasfie @-ce 7 evs Teq wies

(a) ‘Ifall the markets in an economy are perfectly competitive, Pareto efficiency will
automatically be reached’— Do you agree with this statement? Give reasons.

I TS i el “feferiael e S i WSl Fe Tl e
34 e — o & 92 I3 3 QIS (Hilel T 2 IR (oIR Srole mie |

(b) What is cartel? Use Prisoners’ Dilemma to explain instability of cartel.
I T 9 TR R0 AN FRIC PICHCER S| 1 A |

(c) ‘Rent is not income of a particular factor of production but merely an aspect of
income of any factor of production’— Explain.

Qe wysllg @0 e SAMICT =T 7, (@ Fie SAMICT SNEd @5 [os s —
AR A

(d) Derive firm’s demand curve for a variable factor in a competitive market when
several variable factors are used.

afsrforere AeE T2 Tome JIRTHE 9I0 FEE @ 90 [eR TAmicT
wifzw @ iz s

(e) Explain the price and output determination in a model with a dominant firm and a
competitive fringe.
a6 S A AL T @ PR TPREFI TG GeoAwS @D AR [FOIR 7 @
Teoiwe 7S Frare (e 2 TS ©f A1 Il

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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